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The wings of one type of month form two triangles.

Write a two-column proof to prove that AFEG = AHIG if El = FH,and G is
the midpoint of both El and FH.

Statements Reasons F
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Use the given information about the figure to write a paragraph proof.

Given: EH E R S
RQ=TS

Prove: .Q = .S Q T
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Use the given information about the figure to write a two-column proof.

G W= W, = 7

Prove: ZLNM= ZLNP

M
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Bonnie says that APQR = AXYZ by SAS. Shada disagrees. She says that

there is not enough information to prove that the two triangles are
congruent. Is either of them correct? Explain.
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included angle n.
In a triangle, the angle formed by two sides is the included angle for

those two sides.
B
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Side-Side-Side (SSS) Congruence

Fill in the blanks.

Words  If three sides of one triangle are to three
sides of a second triangle, then the triangles are

Example If Side AB= C
Side o = E, and D? E
Side =, A
then . b
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Use the given information about the figures to write a flow proof.

Given:Q_U = A_D,Q_D =AU
Prove: AQUD = AADU
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Use the given information about the figures to write a flow proof.

Given: AQRS is an isosceles with QR SR. @ L s

RT bisects QS at point T.
Prove: AQRT = ASRT )4
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Triangle DYW has vertices D(—5, —1),V(—1, —2),and W(—7, —4).Triangle LPM
has vertices L(l,-5), P(2,—1),and M(4,-7).

a. Graph both triangles on the same

coordinate plane.

b. Use your graph to make a conjecture as to

whether the triangles are congruent.

Explain your reasoning.
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Side-Angle-Side (SAS) Congruence

Fill in the blanks.
Words If two sides and the included of one triangle are
congruent to two sides and the included ofa

second triangle, then the triangles are

T B
Example |If Side AB= c
Angle = /E, and E
Side o = - s A

then




